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1728 eubio inches
27 oubio feet

The square of any number is obtained by multiplying it

by itself. 12 multiplied by 12 = 144, the square of 12.

OUBIO OB SOLID MBASUBB.

= 1 cubio foot.

= 1 oubio yard.
40 oubio feet of rough timber, or \ m ±^„ , i . j
60 cubio feet of hewn timber /=* ***"*' **' *®**'

42 oubio feet =1 ton of shipping.

128 oubio feet = 1 <^ord of wood.*

Cubes are solid figures, similar to dioe, and have six

equal sides.

The oube of jtny number is obtained by multiplying it

twioe by itself; thus, 12 X 12 X 12= 1728, the oube of 12.

MBASUBB or OAPAOITT.

marked
4 gills = 1 pint. pt,

2 pints = 1 quart. qt.

4 quarts =: 1 gallon. yal.

2 gallons = 1 peck. pk.
4 peeks = 1 bushel, btuh,

'

86 bushels= 1 chaldron, chald.

The gill, pint, quart, and gallon are used for liquids.

The peck and bushel are used for pojtatoes, oats, salt, &o.
The chaldron is only used for coal. The gallon contains

277.274 cubio inches.

TIMB.

60 seconds ('^)

60 minutes
24 hours
7 days

12 months, or
62 weeks and 1 day, or

866 days

Every fourth year contains 866 days, and is called

leap-year.


